
pT bin ( GeV/c ) y∗ bin d2σ
dpTdy∗ [nb/( GeV/c )] stat. corr. uncorr.

7< pT < 8 −3.0< y∗ <−2.5 2 860± 310 150 260 80
7< pT < 8 −3.5< y∗ <−3.0 2 340± 230 90 210 50
7< pT < 8 −4.0< y∗ <−3.5 1 414± 165 77 142 34
7< pT < 8 −4.5< y∗ <−4.0 748± 140 58 125 22
7< pT < 8 −5.0< y∗ <−4.5 374± 105 52 89 17
8< pT < 9 −3.0< y∗ <−2.5 2 090± 240 120 190 80
8< pT < 9 −3.5< y∗ <−3.0 1 450± 150 70 120 40
8< pT < 9 −4.0< y∗ <−3.5 812± 114 54 97 25
8< pT < 9 −4.5< y∗ <−4.0 474± 99 44 86 19
8< pT < 9 −5.0< y∗ <−4.5 207± 66 36 53 12
9< pT < 10 −3.0< y∗ <−2.5 1 370± 170 90 120 70
9< pT < 10 −3.5< y∗ <−3.0 794± 97 53 76 29
9< pT < 10 −4.0< y∗ <−3.5 488± 80 40 66 21
9< pT < 10 −4.5< y∗ <−4.0 266± 63 33 51 16
9< pT < 10 −5.0< y∗ <−4.5 94± 37 26 23 9

10< pT < 11 −3.0< y∗ <−2.5 700± 90 60 60 40
10< pT < 11 −3.5< y∗ <−3.0 479± 65 44 41 24
10< pT < 11 −4.0< y∗ <−3.5 372± 65 35 50 22
10< pT < 11 −4.5< y∗ <−4.0 152± 39 22 30 9
10< pT < 11 −5.0< y∗ <−4.5 42± 19 14 11 5
11< pT < 12 −3.0< y∗ <−2.5 670± 90 60 50 50
11< pT < 12 −3.5< y∗ <−3.0 373± 53 35 34 21
11< pT < 12 −4.0< y∗ <−3.5 191± 40 26 25 15
11< pT < 12 −4.5< y∗ <−4.0 57± 20 14 12 5
11< pT < 12 −5.0< y∗ <−4.5 88± 36 22 23 17
12< pT < 13 −3.0< y∗ <−2.5 440± 70 40 40 40
12< pT < 13 −3.5< y∗ <−3.0 247± 43 29 22 23
12< pT < 13 −4.0< y∗ <−3.5 107± 27 20 15 10
12< pT < 13 −4.5< y∗ <−4.0 70± 24 16 15 10
12< pT < 13 −5.0< y∗ <−4.5 19± 15 12 5 7
13< pT < 14 −3.0< y∗ <−2.5 257± 53 39 19 30
13< pT < 14 −3.5< y∗ <−3.0 146± 33 27 14 13
13< pT < 14 −4.0< y∗ <−3.5 114± 32 19 17 20
13< pT < 14 −4.5< y∗ <−4.0 40± 19 12 9 10
13< pT < 14 −5.0< y∗ <−4.5 10± 7 6 2 2


